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Tammy and Timmy go to Chipotle for lunch one Saturday. They love their spicy food and so after
ordering their burritos, they go to see how many Tabasco bottle are available. However, the day before,
students from the local high school had a contest to see how many Tabasco bottles they could steal
(they are terrible students) from Chipotle. They were nice enough, however, to leave one bottle left for
all of the customers. Now since Tammy and Timmy love their burritos so spicy, they decide to take the
bottle to their table. The bottle weighs 2.94 N and has a coefficient of friction of 0.019 with the table
they are sitting at. Tammy and Timmy sit across from one another at a table that is 2.37 m long. Tammy
is currently drizzling the Tabasco sauce on her burrito when Timmy asks for it. She starts pushing the
bottle from her edge of the table with a force of 1.67 N and stops pushing when it reaches a velocity of
0.95 m/s (this was not a conscious decision, it just happened to occur this way).
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Problem B
A small block of mass m = 0.50 kg is fired with an

B Ty initial velocity vo = 4.0 m/s along a horizontal section
- of frictionless track as shown. The block then slides
\ / along the vertical, frictionless semicircular track of
s’l ‘® radius R = 1.5 m (through point A towards point B),
until it reaches the level bottom portion of the track. A

. g small section of length L = 0.40 m provides a friction
‘ ‘ . force of 0.83 N before the track becomes frictionless
again and the object slides towards point C.
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A new event at the Winter Olympics in Sochi is uphill log pulling. This event requires athletes to pull a
log up a hill as far as they can and for as long as they can. Since it’s a new event, not many individuals
applied to compete. The hill is at an angle of 27.1 degrees and the coefficient of friction between the log
and the hill is 0.23. The first individual, representing the Island of Madagascar, pulled a log that has a
mass of 7.8 kg for 11.2 s with a force of 54.6 N. The second athlete, from Mongolia, pulled a log that has
a mass of 3.9 kg for 16.167 s for a total distance of 32.67 m.
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